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Instructions :-

(1) All questions are compulsory. -

(2) Question No. 1 to 4 are objective types. Each question is allotted 5 marks.
(3) Question No. 5 to 9 carry 2 marks each. Word limit-of answer is 30.

(4) Question No. 10 to 17 carry 3 marks each. Word limit of answer is 75.

(5) Question No. 18 to 21 carry 4 marks each. Word limit of answer is 120.
(6) Question No. 22 and 23 carry 5 marks each. Word limit of answer is 150.
(7) Internal options are gvan question no. 5 to 23.
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Select the correct alternatives:-
(A) “Statistics is the science of countitg”, who said this?

(i) Johnson (i) King
(i) A.L.Bowley (iv) Marshall
(B) What are the types of data in term$ of collection?
(i) Two (i) T '
(ii1) Four (iv) Five
(C) The class interval of 25-27 is-
(i 2 (i) #
(iii) 6 (iv) 8 ‘
(D) If n=14and N=T7thenIn="? '
(i) 88 | (i) 98
(ii1) 78 (iv) 68
(E) Mean deviation is calculated Irom-
(i) Mean (i) Median
- (iii) Mode (iv) Allof the afove ‘
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_(A) Qgday 'T’TTTF T HT oo s T dra e\ g T (1/2)
B) oo TR TR & AT W B (P / ager)
:i(C) TR T &1 JADID T 21 AT -3 (3 1 4 (1,/100)
ISR R SR L LU —
f (famfaa / afamfm)
(E) fafes oRF R & R H TER T s T S|
- (el / sifamiva)
Fill in the blanks by selecting the correct alternatives given in bracket -
(A) The value of correlation coefficient lies betweent ..oooiiinnnn (172)
(B) ............arc known as Economic Barometer.  (Index number/ mode)
(C) Index number of the base year is Always.........cccoooieneeenien (17100

(D) Before the rule of British in India the Indian Economy was very ........
(developed/ undeveloped)
(E) Before the British rule, the q’unagc industrics of India were in

................. condition. "y (developed/ undeveloped)
U3 el Aiedr gagd— ' (5%1=5)
qve A’ qvg T
(A) TTEl IRRA T08 &Il Bl (i) GDP>
(B) FAam (ii) TemE 1982 4
(C) wrdra gl iy Riftrg SRy
(D) Tmar$ (iv) 2008 T
(E) W&l H¥e| STS (v) 1907
Match the columns:- ,
Section ‘A’ | . Section ‘B’
(A) TISCO (i) GD.P
(B) MGNREGA (i) July 1982
(C) Human Capital (i) Literate Population
(D) NABARD (iv) 2008
]
(E) Gross Domestic Prc:w:luctj (v) 1907
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Answer in one word/ sentence:-
(A) Write the name ol a source of comme cial energy.
(B Write a cause of low tevel bealth in Jodi
(€) What do you mean hy cconvimic develprient?
(D} Write the name of i pootest country on elobal level
. {E) Inwhich country One Child Policy w .~ declared?
a5 Adffeat @ am au A 617 )
What do you mean by Statistics? \
ZUB
vt @ g @ amd R
Write any two functions of Statistics,
ug  SNEH TRNEFR W AN W wHad T2 G

What Jo you mean by Telephonic Interview?
y e/ OR
graEs! o a8 @1 Q) s i)
Write any (wo dilferences bciwc.;cn Questionnaire and Schedule.
@" ot ma-R= = e we @fi
Explain the meaning of tlass mid.-vul‘f:.

. Sw@/OR |
1o-2oamm—3ommmmm|
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What docs Commercialization of z\;}ncultun mcan?
A/ OR
Ry M @ R ARAm TR P T G o
What was the condition of Indian agkiculture during the British rule?
Qy el R o amma @7 . )
What does poverty mean?
rdl/ OR
"Ra ¥ Pfrn @ wg@ aRo @ A&
Witich are the major causes of poverty in India?
9.10 T ¥ fAWR W@ RRaR e @ o AR (3)
20, 25, 20, 30, 35, 39, 41, 48, 51, 60 AR 70

Calculate the range and coef ﬁcicnzl' range from the following data.

20.25.29, 30, 35, 39, 41, 48, 51, @ nd 70
ag{gon‘

Tgde fuas au agis Roes juis @ 3 fifag)

\
Write the formula of Quartile Deviatipn and coefficient of quartile deviation.

911 EAED (4 FOMTE HEGG @ a1 ) s | )
d Explain the meaning of positive and Lgalivc correlation.
J¥ar/ OR

wEday @ fenia Hifm |

e Correlation.

o @ fremand g ) *'] (3

Mention three charact\crislies of Index aumber. i '
JRrEr/OR |

- Pwie & B MR 7w« |

Explain any three importagee of Index number,
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913 -9 {Eh P & o1 dm o a9
/ Write any three sources of Human Capital ‘ormation.
e /OR
e wgfe ¥ W 40 @ wew @) qwensd |
xplain the role of Human Capital in Econumu. Growth.

Z18) T R & el wEEd |

Explain the meaning of Rural Development.
Eai /OR

ot fuor a1 arf wengd | '

Explain the meaning of Agncultural Mar}.u.lmg

815 R & yer folRad |

Write the types of Unemploymem.

Jaa@/OR
AT &1 3 HqHeEd |

Explain the meaning of Unemploymcﬁt.
316 SNl & WRRTT Tl & W faf |
Write the names of Conventional Sources of Energy.

J1eraT / OR
St @ R REREG Siel & AW R

Write the name of Non- Conventional Sources of Energy.

“IT oY BRad” aﬂmqmammm?

What was the objective of “The Greal [fcap Forward” programme?
Juar/OR

7 Rere wdael o Rk

Write the Human Development lndicﬂmrq

/ﬁqﬁr@aaﬁmammmm—

2015 2016 | 2017 zola 2019

Bﬁ’faﬂ'ﬂ'@r 100 150 | 200 2¥ 300
782 [7420-A]
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Prepare Simple Bar Diagram from the following data -

Year 3015 | 2016 | 2017 | 2018 12019
No. of students 100 150 200 250 | 300
IV OR
4 A T winl @ g Y B TS ¥ wge S -
BT &AM A B C D E—I
qen yRemm % 70 60 50 60 40
" Present the following data with the help of Dotted Line Diagram -
Name of student A B C D E
Bamresuh % | 70 | 60/ 50 | 60 | 40

919" = Wl @ WHIGR ARG ) O e
‘40, €0, 80, 70, 100; 120, 150 |
Calculate the Arithmetic mecan from the following data®
40, 60, 80, 70, 100, 120. 150 nﬁ
agar/OR
PrerfRe w1 Wit 2 o iR
5, 12, 9, 15, 18, 22, 25, 35, 32

Calculate the median value of the follo@ing data-
3,12,9. 15, 18, 22, 25, 35, 32

@ﬁ@m@mmww|

\ e
| Write any four limitatidas of Index numbdr,
1

Joar/ OR
A& Pra s o wsj;bt
Explain the Wholesale Pricefndex.
182 [7420-A] Pae 7 ot
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ﬁ.@)wﬁa‘\fwmmméwml @)
><— Write the causes of Environmental or Pollution Crisis.

syar/ OR . ,
YATEROT WO AT AR B IR @ foy AGT ST BT W |
Explain the Government efforts for En\-irbqrncnml Protection.

WWﬁmmqaa\m%&qﬂ | (5)
Write three merits and two demerits of Arithmetic mean.
Iega1 /OR

Frfefes sitest ¥ wqele fraem @ v e s ARm-

'BAE|1 |2 |3 a4 5 6 7 & 9 10 11

| | L\
Lam 1015 |20 ‘25 |30 '35 \40 45 50 155 60
, [

Calculate Quartile Deviation and Coeff L:i—ﬁhut- Quantile Devration from the

following data-

SN. |1 |2

s
L
wn

78 9 10 11 |

No. |10(15 |20 [25 |30

W[5 50 |53 @
328 SRV HI R 8 aem e | (5)

Explain the contribution of liberalization in economic development.

a:lwgP_g
maﬂmmaﬂmrsm

Explain the concept of Globalisation.

2
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